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 Math 111 ر!� ��ت �	�دة �����اا��وري  ا�����ر
  )إ���2م و 0/ه�-�(  �+����ت ا��*' ا��()��!' ا�	��ر ا�داري و ا������


 :ا7�� :ا���� ا�����6 :ر�� ا�-���� :ا���5

  �9����ت وار�8دات

 !9> ا��از �+��6: ا��78�9' �-	�ا�6' 5*�  •

  .اد��D و��B(	-�� 8�@���' ا�C+/?� ا���B ) 2(و ) 1(�8�6 ���7@' 78-�0�8: ?� ور6' ا<=��' ��> �+�ة  •

•  'F?�	ور6' ا<=��' ا� �? GF? ')�)Hا<=��' ا� I8ر J�-2�� 'ا����� '-@B>ا K�	= L-5 ���=> �+�ة  او< ��ول أ�ص ��Pا�� �-F���)3( 

     J�-2ا�� �? /+Cاو ا� J�-2و��' �5م ا��R�8 ��-	)��Bو Dاد�� �Bا�� �?  

 وان ��6�0 ا�UH(�ت �����8 وآ�J8) RBا< 30(0/آ�ي �8 ان �5د ا<B@-' ه�  •

 5*� ا<���Yء �8 ا<����ر، ا��=�ء 0�-�� ور6' ا<=��' و اBV@-'  �-	�ا�6' •

 L-5 آZ �8 ور6' اBV@-' و ا�=��' وا���L-5 K�6 ور6' ا���اF��� K�6-� ا�(��   0/آ�ي �8 آ���' اB	: ور6	: ا��78�9 •

 ان �0 ذ�:) ���' ^[( ��Cام ا\�' ا�(��B' ����9ال   و���7�Bاو اBا\�' ا�(��B' <!�	] ���C�Bام   •

 ) �	�7?' أي ا�=��' ا�H(�('(و!	a*: ا=�اء 8(�و<0: ��ر6' ا<GF? '-@B  <!�	] ����ل ورق _�� �5�F' ا<����ر •

 I8�� b��+8 '-@BVذج ا�	� I8ذج ور6' ا�=�ب0/آ�ي �8 أن ر�	�  
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  أ=��� L-5 آ�F? Jة 8	� !-� ������ر ا�=��' ا�H(�(' و�Y-�-20 �d �8 ?� ور6' ا�=��' �7�0 ���6 ا��FUة

  
إذا آ�ن  1

1
m  ا���-��3 ا$ول �، ه� ��
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m ���>	 ن ا���-�3��ن �-�از��ن�@ �A�Bا���-��3 ا� �  :ه� ��
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 B)   JـKL  A) اب�N 

3  
��>O P9ز��دة @� ا��ا R�	 ���	 ��S6%  V�9ن آ�ن راW@ V�9ا����6 ه� 0�1500 را V�9ن راW@ ر��ل  

 D)  1570ر��ل  C)  1590ر��ل  B)  1575ر��ل  A)  1520ر��ل  

4  ��S40آ�6 ووزن �]��  60إذا آ�ن وزن أ ��Sوزن أ 
��A نW@ ،�6وزن آ Rه�   إ� ��[�  

 D) 4 C) 4:2 B)  3:2 A) 2:3 
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 D) 80% C) 60% B)  40% A) 20% 

6 
462: �����د� =− xx    ��ن ه^S...  

 D) 8, �2 C) 8,2  B)  2,8−  A) 2,8 −−  

  زوج وأم وأب @Wن A��P ا��وج ه� إ0O و ر��ل و�9آb�@�9120000 b زو�
 و�9آb ���اث ��ر`  7

 D) 1/5 
 ا�-�آ
 A) 1/2 ا�-�آ
 B) 1/4 ا�-�آ
 C) 1/3 ا�-�آ
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ا���	 /  
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� ا��-�ا�]S 
	��6�6� � 10 � 5� �   هـ� 16

   D)  { }6: −≥= xxS  C) { }6: −≤= xxS  B)  { }6: ≤= xxS  A) { }6: ≥= xxS  
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 B) JKL A) اب�N 

11  d��� R�	 
  ه�و � Rf	���S Vل ر��ل O �ض أO VA�d ا�<��ب  �3�14000ار زآ�ة ا���ل ا���-]3

 D) 250 ر��ل C) 150 ر��ل B) 400 ر��ل A) 350 ر��ل 
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 �0 ا�]��O RK�9 Pi�3���د� 100y x= +   ، k�Sx  Pi�3[د ا��	 .Pi�3[د ا��	ن  20  إذا آ�ن W@ 
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  :j���\9 اAl-�ج ه� 

 D) 130 C) 200 B) 150 A) 250 
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 D)  �3, 4 C)  �3 , 0 B) 4 , 3 A)  4 , �4 

  ر��ل @Wن ا����d ه�   9,000إذا آ�bA زآ�ة ا���ل ����d �� ه�  15

 D)  360,000 C)  340,000 B) 350,000 A)  260,000 
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  ...���Rا� �ق p 0�O�0 ا���q وp�0 ا��5اء ����
 �� �5Oط أن �\�ن p�0 ا���q أآ�� �p 0�0 ا��5اء  17

 D) رة��nا� C) tOا�� B) ن��ا�<3 A) ا����دة 
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20   0�-K3>0 ا��O j�->�ا� 
K3A�3,0� ,   .......ه�    ���3,4

  
 D) )0,4(  C) )4,0(  B)  )2,0(  A) )0,2(  

� ا�<�vم ا�-��� 21S   :
     2� �  3� � 14
�2� �    � � 2

     .................. هـ�  

 D) � � 4 , � � 1 C) � � 1 , � � 4 B) � � �1 , � � 4 A) � � 1 , � � �4  
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 B)   JـKL  A) اب�N 

24   
0�02 ا����د� =++ cbxax    042إذا آ�ن <− acb   ا@�ن 
���w ����د�S �x� �3�3S  

 B) JKL A) اب�N 


 @Wن ���
  x,10,4,5إذا آ�bA ا$	ـ�اد    25��  ه�  ��-<�

 D) 40 C) 14 B)  8 A) 20 

26   
K3>�1ا�, �2�  qOا�� �@ q39:  

  
 D)  ا$ول C)  �A�Bا� B)  k��Bا� A)   qOا��ا 

  ��9وي �200د ـ�0 ا�� 25% 27

 D) 40 C) 50 B) 20 A) 30 

28  ��g-�ا� 
��� x 
�2 @� ا����د� � 4 �   :ه�    0

  
 D) �1 C) �2 B) 4 A)  2 

29   0�-K3>0 ا��O 
,�2ا����@ �3� ,   ��9وي    ��2,3

 D) 27  C) 6 B) 3  A) 3 
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� ا����د�S√� � 1� � � هـ�  2 �………           

 D) 9 C) 7 B) 1 A)  2 
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